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Class- X

Subject: Hindi

Video Link

Chapter 5- Utsaah
Follow the Instructions given below:-

To access the video tap the following link:

Visit link: https://youtu.be/WSXTGESbJ-M

¥ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ

% 0532-2468802

JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21

www.jtgjschool.in



Class- X

Subject: Biology

Video Link

Follow the Instructions given below:-

To access the video tap the following link:

Visit link: https://youtu.be/wYsSYKNNst4

Instructions for the students:

1. Open the above link.
2. Go through the content available in the video.
3. Try to solve these questions on the basis of video.

Assignment questions

a) Describe the structure and functioning of nephrons.

b) How is the amount of Urine produced regulated?

What is osmoregulation?

¥ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ % 05322468802

JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21

www.jtgjschool.in
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e pPlants get rid of excess water by transpiration .Many plant waste
products are stored in cellular vacuoles .

leaves that fall off.Other waste

e Waste products may be stored in
s are stored as resins and gums in ol

product d xylem

o soil around them.
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T IS EXCRETION ?

THE BIOLOGICAL PROCESS INVOLVED

¢ INTHE REMOVAL OF HARMFEUL WASTES

FROM THE BODY'IS CALLED'EXCRETION

Excretory system in human betngs
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* The excretory. system ofthuman beings includes a pair of kidneys,
a pair of ureters, a urinary.bladder and a urethra.

* Urine produced in the kidneys passes through the ureters into
the urinary bladder where'it is'stored until’it is released through
the urethra. Urine'is made to'filter out nitrogenous waste such
as urea or uric acid from the blood.

* Capillary cluster in the kidney: is associated with the cup shaped
end of a tube that collects the filtered urine.Each kidney has

" large numbers of these filtration units called nephrons.
(@)
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IN HUMAN BEINGS contd...

Y *Some substances in the initialfiltrate such as glucose, amino acids, salts

A0 .
. anda major amount of waterare re-abserbed

* The Urine forming in each kidney eventually enters a long tube ,the
ureter, which connects the kidneys with the urinary bladder .Urine is
stored in the urinary bladder until'the pressure of the expanded bladder

@)

~leads to the urge to pass it out through the urethra.
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R
\\l Structure of a Nephron K
LY wnin

Proximal convoluted
ule
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Class 10
Subject-Chemistry

Assignment 3 and 4

Lesson-Acids,Bases and Salts

By-Nivedita Sinha
Session-2020-2021



JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21
Class- X

Subject: English

Video Link

Follow the Instructions given below:-

To access the video tap the following link:

Visit link: https://youtu.be/It74MD-ORDw

¥ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ % 0532-2468802 www.jtgjschool.in




JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21
Class- X

Subject: English

Video Link

Follow the Instructions given below:-

To access the video tap the following link:

Visit link: https://youtu.be/polMeOPcaos

For the poetry section from the book ,poem 1and 2 ,both by Robert Frost namely-
1. Dust of Snow.

2. Fire and Ice.

¥ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ % 0532-2468802 www.jtgjschool.in
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Basic Concepts with Examples
« Linear Equation in Two Variables
An equation which can be put in the form
ax+by+c=0
where a, b and c are real numbers {a, b # 0)
Is called a linear equation in two variables
X and 'y’
« General Form of a Pair of Linear
Equations in Two Variables
General form of a linear pair of equations
In two variables is:
aiX+ b1y + cy - 0 and
asX+byy+co =0
where aq by, ¢4, as, by, ¢y are real numbers
such that
E:IF|2 e h"|2 0 and agz + bzz 0




L

» General Form of a Pair of Linear
Equations in Two Variables
General form of a linear pair of equations
In two variables is:

aiX + b1y + ¢, - 0 and

asX+boy+co =0
where aq by, cq, ag, by, C9 are real numbers
such that

312 % h']z 0 and azz L bzz 0
« Solution of a Pair of Linear Equations
in Two Variables
The solution of a linear equation in two
variables X’ and 'y’ is a pair of values (one
for ‘X' and other for 'y’)
which makes the two sides of the
equation equal.
There are two methods to solve a pair of
linear equations:

(1) algebraic method

(i) graphical method.
- Algebraic Method
We have already studied (i) Substitution
method and (ii) Elimination method. Here,
we will study cross-multiplication method
also.

Ifaix+biy+c1=0



« Algebraic Method
We have already studied (i) Substitution
method and (ii) Elimination method. Here,
we will study cross-multiplication method
also.

Ifasx+byy+cqi=0

asX+byy+cy=0

form a pair of linear equations, then the
following three situations can arise:

L _
(1) If —#—, then the system is
a-'. -
consistent.
(i) If l =5~ then the systemis
3 b
inconsistent.
a-
(in) If =b1 - - then the system s
& b G



dependent and consistent.
« Graphical Method of Solution of a
Pair of Linear Equations

(i) If the graphs of two equations of a
system intersect at a point, the system is
said to have a unique solution, i.e,, the
system is consistent.

(i) If the graphs of two equations of a
system are two parallel lines, the system
IS said to have no solution, i.e,, the
system is inconsistent.

(if) When the graphs of two equations
of a system are two coincident lines, the
system is said to have infinitely many
solutions, I.e.,, the system is consistent
and dependent.



Pair of Linear Equations in Two Variables

Linear Equation

* An eguation which can be put in the form ax + by + ¢ = 0, where a, b and ¢ are real numbers
and both a and b are nonzero is called a linear equation in two variables.

Solution of an Equation

e Each solution (x, y) of a linear equation in two variables,

ax + by + ¢ = 0, corresponds to a point on the line representing the equation, and vice-versa.

Pair of Linear Equations in Two Variables

e The general form for a pair of linear equations in two variables x and y is ax+by+c =0
And ax+by+c, =0

e Geometrically they look like the following:

Graphical Method of Solutions
e x-2y=0
I+ dy=20




The solution is (4, 2), the point of intersection.

To summarize the behavior of lines representing a pair of linear equations in two variables.
The lines may intersect in a single point. In this case. the pair of equations has a unigue solution
(consistent pair of equations).

The lines may be parallel. In this case. the eguations have no solution (inconsistent pair of
equations).

The lines may be coincident. In this case, the equations have infinitely many solutions
[dependent (consistent) pair of equations)

Substitution Method
The following are the steps:

Find the value of one variable, say y in terms of the other varable, i.e., x from either equation,
whichever is convenient,

Substitute this value of y in the other eguation, and reduce it to an equation in one variable,
i.e., in terms of x, which can be solved. Sometimes, you can get statements with no variable.
If this staterment is true, you can conclude that the pair of linear equations has infinitely many
solutions. If the statement is false, then the pair of linear equations is inconsistent,
Substitute the value of x (or y) obtained in Step 2 in the equation used in Step 1 to obtain the
value of the other variable.

Elimination Method

Steps in the elimination method:

First multiply both the equations by some suitable non-zero constants to make the coefficients
of one variable (either x or y) numencally equal.

Then add or subtract one eguation from the other 5o that one variable gets eliminated. If you
get an equation in one variable, go to Step 3.

If in Step 2, we obtain a true statement involving no variable, then the original pair of equations
has infinitely many solutions.

If in Step 2, we obtain a false statement involving no variable, then the original pair of
@quations has no solution, 1.e., it is iInconsistent.

Solve the equation in one variable (x or y) so obtained to get its value.

Substitute this value of x (or y) in either of the original equations to get the value of the other
variable,

Cross Multiplication Method
Steps:

Write the given equations in the form
ax+hy+c =0

And ax+by+c, =0



Taking the help of the diagram

X ¥ l
bz >< :1 >< "~
b, e, a, B,
Write Equations as
X ¥ 1

oy &he am e ab oah

Find x and y, provided ab, -ahb #0
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Sl | Pair of lines
No.

soluiion
(unique)

Infinitely
many solut

2x+3y—-9=0
4x+6y-18=0

4 _b ¢

b #* — | Parallel lines |No solutio
a, )

x+2y-4=0
] ¢

2x+4y—12=0




i vample 4 : Check graphically
ally whether the pa
pair of equations
d X+ 3y=6
an
2x -3y = 12 a
(2)

is consistent. If so, solve them graphically

Solution : Let us draw the gra
| ; raphs of the Equations .
solutions of each of the equations, which a?e giv:; i(l}u)"l“aag?c(?é b i

lable 3.5

Plot the points A(0, 2), B(6, 0),
P(0, — 4) and Q(3, - 2) on graph
paper, and join the points to form the
lines AB and pPQ as shown in

Fig. 3.5.
We observe that there is a point

both the lines

8@,);}16 solution of the




3.4.1 Substitution Viethod : We shall explain the method of substitution d

some examples.

gxample 7 : Solve the following pair of equations by substitution method:

ix—25y 2
x+-2y=3

Solution :

Step 1 : We pick either of the equations an
I et us consider the Equation (2)

d write one variable 1n terms of

x4+ 2y=3

and write 1t as =32



h'. | ! - {
I' i i % | . J 1“‘

) VARIARL B
Step 2o Substitute the value of v in Equation (1). We get
(3 - 2y) - 15y =2

L

: LE. 21 - 14y = 15y =)
th'i 1.C., -~20v= '0
iabgﬁ Therefore, s 19
| : 29
Step 1 Substituting this value of v in Equation (3). we get
9) 49
X= 3~ 2 l = =
s 29 29
v !ht 49 19
~any Therefore, the solutionisxy = —  v= —.
29°7 29
L TN 49 19 |
\Verification : Substituting x = 590 and v = 5g + Youcan venfy that both the Equatior
(1) and (2) are satisfied.
ally To understand the substitution method more clearly. let us consider it stepw IS¢

o . . . . .
Step |- Find the value of one variable, say 1 in terms of the other variable, i.e., x frc
"7'), _ either equation, whichever is convenient.

Step 2 : Substitute this value of yin the other equation. and reduce it to an equation
one variable. i.c., in terms of x, which can be solved. Sometimes. as in Examples 9 a

10 below. you can get statements with no variable. If this statement is true, you ¢

ude that the pair of linear equations has infinitely many solutions. If the statem

se. then the pair of linear equations Is inconsistent.
. Qubstitute the value of x (or v) obtained 1n Step 2 in the equation use«
tc obtain the value of the other variable.

value of one variable by expressing it in term
ear equations. That is why the methe

- We have substitutpd the '
. variable to solve the pair of lin
cha cubstitution method.



34.2 Elimination Method

er meth
ient than the substitution

od of Cllmlﬂdlll’l“ (1.€.. remos Ing) one

consider anoth
Now let us con methi)d et us see ho

is sometimes more con ven

works.
(WO persons is 9 : 7 and the

le 11 : The ratio of INcomes of
to save ¥ 2000 per mo:

Examp
hem manages

expenditures is 4 3. If each of t
monthly incomes.

Solution : Let us denote the Incomes
enditures by T 4y and ¥ 3y respectiv ely. Then the equations formed 1

of the two person bv T 9x and*

exp
is given by :

Ox — 4y = 2000
and Ix~= 3y = 2000

Step 1 : Multiply Equation (1) by 3 and Equation (2) by 4 to make the
y equal. Then we get the equations: :

27x — 12'\ = 6000
28x — 12v = 8000

Step 2 : Subtract Equation (3
) tfrom E
of y are the same. So. we get Juation (4)to elimingte y. because

(28x ~27x) = (12y - 12v) = 8000 - 6000

B o x = 2000
Step 3 : Substituting this valye of xin (1), we
i . we get

i.‘ﬂ..

9(2000) — 4y = 2000
v = 4000
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For solving a pair of linear equations b
steps : e
Step 1 : Write the give
Step 2 : Taking the help of the diagram above., write Equations as given i

Step 3 : Find x and y, provided a b,—a.b, # 0 ol
Step 2 above gives you an indication of why this method 1s called
cross-multiplication method. g

n equations in the form (1) and (2). oluti

Example 14 : From a bus stand in Bangalore , if we buy 2 tickets to Muilcmwurun-"‘“
3 tickets to Yeshwanthpur, the total cost is T 46; but if we buy 3 tickets to Malleswil.§
and S tickets to Yeshwanthpur the total cost is ¥ 74. Find the fares from the bussT
to Malleswaram, and to Yeshwanthpur. S

?olun;n h Let T x be the fare fri::tm the bus stand in Bangalore to Malleswaram.
' y to Yeshwanthpur. From the given information, we have

2x +3y = 46, ie., 2x+3y-46=0
x+Sy=T4, ie.. 3x+5y-74=0

To solve the EC]llﬂﬁD
: ct ns by the Cross- P, | . .
giv * eliin. S multlphcauon l[lElhﬂd, we draw the dragrd

X
y
3 _ 46 gt :



()

Then R T TR Y sy Kt i ¥ WS S &
(3)(=74) = (5)(—46) (—46)(3) - (=74)2) (2)5) -3)X3)

e, X \ '|
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=222 4+ 230 138 4148 10-9
i \ \ l
e, - ==

S A

: % | y \ l
e = T oand T
% § 107 .4
g x=96'and y=1U

Hence. the fare from the bus $tand in Bangalore to Malleswaram is ¥ 8 and the fare {0

Yeshwanthpur is T 10.
- R ey s T sl s Haat the solution we lhiave gﬂil 1S correct.
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£xample 18 : Solve the following pair of equations by reducing them to g

E ;

E lincar cquations .
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: —t = 2

! x=1 Y=

[ 6 j |

: x=1 y=2

'f}a Soluti ————1 = p and \

| Setetien fist vt =1 B F A0C T 4. Then the given equations




Equations (3) and (4) form a pair of lincar equations in the general form. Now.

Aot ) l l
you can use any method to solve these equations, We get p : and ¢ :
% ey '

Now, substituting _I for p, we have
.X_.__.
l 1
) el 3’
Le x-1=3, 1.e., x=4.
S CAOTE I _
Similarly, substituting — j for g, we get
1' —
l |
g=2 3

LB 3= y=2,18,P%

Hence. x = 4, y = 5 is the required solution of the given pair of equations.
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GOLDEN JUBILEE SCHOOL

Session 2020-21
Class- X

Subject: Mathematics

Video Link

Chapter:3

Teacher: Ankita Lahiri

Instruction for class 10 mathematics students.

Follow the Instructions given below:-

To access the video tap the following link:

1. Given study material in PDF format is related with chapter 3 linear equation in two Variable.

For better understand open link.

Visit link: https://youtu.be/t8nhtl7pzpU

2. Try to understand the terms and explanation of chapter and note down the points in your
note book.

3. Go through the examples given in PDF file.
4. Do the exercises given in NCERT BOOK.

5. Make a proper record in your note book.
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Video Link

Lesson: Electricity
Follow the Instructions given below:-
To access the video tap the following link:

Visit link: https://youtu.be/caJMUENUFTM
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Subject — Geography
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Video link given below is the digital content of Chapter 1 of Geography —

“RESOURCES AND DEVEOPMENT”.
Go through the content of the chapter thoroughly and make notes.

The first link is the Video of the Chapter and the next three links are related to multiple choice
guestions, short questions and long answer questions.

Questions are already there in the link.
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%3Dshare content
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Video link given below is the digital content of Chapter 1 of Economics

CHAPTER”S NAME ----DEVELOPMENT
YOU TUBE LINK

https://youtu.be/6fNtmvmQDAw
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Jagat taran golden jubilee school

Class 10th session 2020- 21
Subject History/ Civics

Assignment 3

Nationalism in Europe - Class 10

YouTube About Press Copyright Contact us Creators ...
https://youtu.be/7IV1INg77VU

In Economic Sphere, freedom
of market and abolition of

state-imposed restrictions
on free movement of goods.




What did Liberal Nationalism stand for?

For New Middle Classes: Freedom for

the individual, equality before [aW and
right to property.

The educated, liberal middle class
started demanding Liberal
nationalism. ¢




Napoleon’s administrative measures hac
created the following- @

L There were 39 princely states. ]
K Different currencies & Measurements. ]

% to 11%

K Custom duty varied from 5 ]

Outcomes of Treaty of Vienna

» BOUI‘b)O\’l dynasty was restored.
# A series of states were formed on
the boundaries of France.




Outcomes of Treaty of Vienna

Genoa was added to
Piedmont in the south.
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Outcomes

¢ Prussia was given new territories in the
western frontier. ¢
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Outcomes

¢ Germany & confederation of 39 states
was left untouched.

[ VS|

¢ Russia was given a part of Poland.
Prussia was given Saxony.

Froesss
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Conservative Regime

¢ Autocratic. .®

¢ Censorship laws on newspapers,
magazines.
4 Curbed revolutionary activities.

Achievements of Zollverein

1.Tariff barriers were abolished.
2.Reduced currencies from 30 to 2 v

3.Creation of railway network. 3
1
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For Civics chapter 2 Federalism
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wewss Federalism Part 1 it's Key Feature Class 10 Civ...

How to study social study, How to study science, Cla...
https://youtu.be/-wHMYY|_NiQ

See India And The Contemporary World |l on DIKSHA
at

Ve

https://diksha.gov.in/play/content/do_31283254980...

\

Get DIKSHA app from:

s DIKSHA - Platform for School Education - Apps...
The DIKSHA platform offers teachers, students and p...
https://play.google.com/store/apps/details?id=in.go...

\

Important questions for History
1. What did liberal nationalism stand for?
2. Who headed the treaty of Vienna? What were its
outcomes?
3. Who were zollverein?what initiative
was taken by them?
4. Which was the most dominant class in European
society? Explain some of their characteristics.
5. Discuss the the administrative reforms
Set up by Napoleon

Important questions for Civics
1. What are certain features of Federalism?



2. Explain the federal division of power between centre
and state.
3. How Federalism is practiced in India?
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STUDY MATERIAL

Lesson 1: Communication skills

Thoroughly go through the chapter given below.










































5 Ws: who, what, when, whe
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communication effective as it y (and how). Offering complete and relevant information makes a

rules out the need of another cycle of communication to clarify issues.

3. Concise message: [n thi
e crﬁ; an dtl'us: fgst paced world, every person lacks time. Hence, it is necessary to keep
Peceiver’s time ixf “d COncxﬁe. It adds not only to the efficacy of the message but also saves the
e understanding it. Lengthy messages are not only boring but are also distracting to
- dome of the ways of ensuring the conciseness of a message could be:
* Cutting out wordy phrases and sentences

* Including only relevant information
* Doing away with faulty/unclear pronoun usage: ‘it is’, ‘this is’, ‘there is’, etc.
* Sparing usage of abstract subjects and passive verbs

4. Concrete and coherent presentation: Concrete and coherent messages facilitate easy understanding
and' produce the desired result. Hence, sender should be careful of not jumbling too many ideas into
an incoherent presentation as it may lead to nothing but confused thinking and branching off from the
main streams of thought. This can be ensured by being detailed instead of vague, using specific facts
and figures, using the active and passive voice judiciously, using action verbs instead of smothered
expressions and using concrete nouns instead of abstract nouns.

§. Correctness of facts: Nothing could be more dangerous than an incorrect message. Make sure that
whatever you communicate is correct to the best of your knowledge. This can be ensured by using
the right level of language—formal/informal, acceptable/substandard; presenting accurate facts, words,
and figures after extensive proofreading; following acceptable writing mechanics—no spelling errors
or careless omissions; choosing of non-discriminatory expressions—treating men and women equally.

6. Consideration of the message and the receiver: For the communication success, it is important
that you prepare the message with your receiver(s) in mind, unless the receiver of your message has
made a mistake or has a different opinion; emphasising the receiver’s takcaway (benefits) from the
communication, showing interest in the receiver, emphasising positive, pleasant facts, and ensuring

and integrity in your message.

towards receiver: The absence of ‘mutuality of thought’ in communication may res.ult

3 ch may lead to a complete failure in communication. Some stF:ps?: towarcfs .showmg

e -_f@.,-'ceiver are—being sincerely tactful, thoughtful, and apprem'flt.we, omitting rude
talking down), minimising slang and jargon, granting and apologising ga:zuod na.turedly,

. rﬁmpﬂy and, above all, giving the receiver due respect so that he believes in what

..............................................................................

ommunicators are more successful at advancing their careers, if all other

ritten or oral, or audio or visual, or audio-visual mode, it is
' Cs of effective communication (also known as the seven principles
u,—;éfm checklist that one should ensure in his/her communication:
olete information, (3) Concise message, (4) Concrete and coherent :
facts, (6) Consideration of the message and the receiver, and :

.....................................................................
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